You

YouGov Survey Results What the world thinks

Sample Size: 1743 GB Adults
Fieldwork: 17th - 18th February 2015

Westminster VI 2010 Vote Gender Age Social Grade Region
Lib Lib Rest of |Midlands /

Total | Con | Lab UKIP | Con | Lab Male | Female | 18-24 | 25-39 | 40-59 | 60+ | ABC1 | C2DE | London North | Scotland
Dem Dem South | Wales

Weighted Sample| 1743 | X X X X 1492436 345 [ 845 | 898 | 207 | 441 | 596 | 498 994 | 749 223 566 373 429 152

% % % % % % % % % % % % % % % % % % % % %
Which of the following do you think should win this
year's Oscar for Best Picture?
The Theory of Everything 21 23 22 32 17|23 22 23| 16 27 22 17 22 24| 22 21 18 22 22 23 18
American Sniper 7 7 7 5 11| 9 6 5 11 3 6 10 8 3 7 7 9 5 9 5 8
The Grand Budapest Hotel 7 9 7 9 7 6 8 6 7 8 9 9 6 6 7 8 10 6 5 9 7
The Imitation Game 7 7 6 12 7 6 7 9 8 6 8 5 8 7 8 6 8 7 5 9 5
Boyhood 3 3 4 1 1 1 3 3 3 3 5 3 2 2 3 2 3 2 3 2 6
Selma 3 2 4 4 1 2 3 4 2 3 4 4 2 3 3 2 2 4 3 2 2
Birdman 2 2 3 0 2 2 2 2 4 1 6 3 1 1 2 2 2 3 2 2 2
Whiplash 1 0 1 2 1 0 1 1 1 1 1 1 1 0 1 1 3 0 1 0 0
Don’'t know 49 47 46 35 52| 50 47 49 | 50 48 39 47 50 54| 48 51 45 50 50 48 52
Which of the following do you think should win this
year's Oscar for Best Actor?
Eddie Redmayne, The Theory of Everything 29 34 29 42 22|32 29 33| 24 34 32 24 28 33| 30 28 23 33 30 30 22
Benedict Cumberbatch, The Imitation Game 12 10 14 19 13|10 12 12 | 13 11 14 13 11 12| 11 13 15 12 9 13 14
Bradley Cooper, American Sniper 6 5 8 4 6 5 8 2 8 4 7 9 7 2 5 7 8 4 6 7 9
Michael Keaton, Birdman 4 2 4 2 4 2 3 4 4 3 6 4 4 2 4 3 5 4 4 3 3
Steve Carell, Foxcatcher 2 2 2 0 2 2 2 2 2 2 4 4 1 0 2 2 3 1 2 2 3
Don’'t know 47 47 43 33 51|49 46 47 | 49 45 38 46 49 50| 47 a7 46 46 49 46 50
Which of the following do you think should win this
year's Oscar for Best Actress?
Felicity Jones, The Theory of Everything 13 13 16 26 12|13 15 16 | 13 14 13 10 15 16| 13 14 11 13 14 15 11
Rosamund Pike, Gone Girl 11 12 13 8 15|10 11 10 | 11 11 21 14 11 4 13 8 15 11 10 11 9
Julianne Moore, Still Alice 9 9 10 11 6 8 10 10 8 10 7 13 8 8 9 9 12 9 6 8 14
Reese Witherspoon, Wild 7 7 9 5 7 7 6 7 7 7 11 10 6 4 5 9 8 6 7 7 7
Marion Cotillard, Two Days, One Night 1 1 0 5 1 1 0 1 1 1 2 2 1 0 1 0 2 1 2 0 1
Don’'t know 59 50 52 45 60| 61 58 55| 60 57 47 52 59 68| 58 59 53 59 61 59 58
Which of the following do you think should win this
year's Oscar for Best Supporting Actor?
Ethan Hawke, Boyhood 8 9 10 11 6 7 8 11 7 10 7 9 8 9 9 7 9 9 7 10 4
Robert Duvall, The Judge 6 5 6 11 8 5 8 6 8 4 4 4 7 7 5 8 8 4 5 8 7
Edward Norton, Birdman 6 6 7 7 8 8 7 3 8 5 8 8 6 4 6 6 6 6 8 5 5
Mark Ruffalo, Foxcatcher 6 8 8 3 6 6 6 6 6 7 12 10 5 2 7 6 7 7 6 5 7
JK Simmons, Whiplash 5 3 6 4 3 3 6 5 5 4 10 7 3 2 5 4 8 5 3 3 8
Don’'t know 69 69 62 63 69|71 67 69 | 67 71 50 62 70 76| 68 70 62 69 70 70 68
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Which of the following do you think should win this
year's Oscar for Best Supporting Actress?
Keira Knightley, The Imitation Game 14 17 12 25 16| 14 13 15| 16 12 14 14 15 13| 14 14 20 14 11 13 16
Meryl Streep, Into the Woods 12 13 16 7 9 |13 13 9 7 17 14 12 12 12| 12 12 14 12 10 14 12
Patricia Arquette, Boyhood 8 8 10 8 4 7 8 10 9 7 10 9 8 6 8 7 8 7 8 8 9
Emma Stone, Birdman 4 4 6 3 4 4 5 3 6 3 11 7 3 1 6 3 6 4 5 4 3
Laura Dern, Wild 1 1 2 3 1 1 1 2 1 2 1 2 1 1 1 2 0 1 2 1 3
Don’t know 60 58 55 53 66|59 59 61| 60 59 50 56 61 66| 59 62 53 61 64 60 58
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